TOP COVER : ALUMINUM(UP,DOWN)
12-BOLT : M4*7.3(SUS§304)

X 84
? 3-BOLT : M3.5*19.4(SUS§304)
[SPECIFICATION]
SIDE COVER : ALUMINUM(LEFT, RIGHT)
1.0PERATING VOLTAGE : DC 10V ~ 48V

3.LED : 3W (CREE)
4.LUMEN : 1400(LM)

5.LENS : LLO1CR-EX XX L-M2(10'20'40'60")
6.WEIGHT : 1.2 (Kg)

7.VIBRATION : 15.6 (Grms)

8.WATER PROOF & DUST RESISTANCE
9. TEMPERATURE : -40 °C ~ 80°C

10.LIFE : 50,000 (Hr)

11.IP RATING : IP68

[T]
PACKING : SILICON BLACK i
BRACKET : ALUMINUM

POWER LEAD WIRE:98.5

BOLT : M6*60(SUS#304)

NUT : M6 (SUS#304) LENGTH
MODEL X' (+0/-0.2) INCH
6 LED | 15.4W 120(mm) 4.7(in)
12 LED | 30.6W 201(mm) 7.9(in)
BODY : ALUMINUM RECEPTACLE:DT04—2P—EQ04 18 LED | 46W 282(mm) 11.1(in)
TERMINAL:1060-16-0122 24 LED | 61W 363(mm) 14.3(in)
. . e IR e a——
mm, LA I
v [ID 42 LED | 106W 606(mm) 23.9(in)
48 LED | 122w 687(mm) 27(in)
© 54 LED | 137W 768(mm) 30.2(in)
. 60 LED | 153W 849(mm) 33.4(in)
66 LED | 168W 930(mm) 36.6(in)
PIPE : #18 ALUMINUM 72 LED 183W 101 1(rr|rn) 39.8(in)
78 LED | 197w 1092(mm) 43(in)

Global Lighki Systems

vislonxusa.com

Xmitter Prime

© Vision Motor Sports, Inc. All Rights Reserved. [VX] Vision X VX TS XIL-P




